Name: 

Study guide: Ch 3,2,13.4 B
How many significant figures are contained in each of the following numbers?

1.) 0.00620

2.) 0.10040

3.) 16.0000

Perform the following indicated operations giving an answer with the proper number of significant figures.

4.) 25.37 + 5.198 + 147.2 =

5.) 354.89 – 17.942 =

6.) 6.35 x 1.05 x 2.168 =

7.) 0.00875 / 0.00135 =

Express each of the following numbers in scientific notation.

8.) 0.000,189

9.) 87.5

10.) 0.000,000,609,866

Express each of the following numbers in the standard notation.

11.)  5.778 x 10-6

12.)  3.87 x 105

13.)  4.778 x 107
Solve each problem, and express your answer in correct scientific notation.

14.)  8.0 x 10-2 x 7.0 x 10-5 =

15.)  7.1 x 10-2 + 5 x 10-3 =

Density:
16.)   Limestone has a density of 2.72 g/cm3.  What is the volume of 24.9 g of limestone?

17.) Use a calculator to determine the density of a pine board whose dimensions are  

       4.05 cm x 8.85 cm x 164 cm and whose mass is 2580 g.

18.)  What is the volume of 7.57 kg of tin if its density is 7.28g/ml?

19.)  Calculate the density of an object if its mass is 5.32 g and its volume is .745 cm3.  
20.)  Based on the density, identify the object from the previous question (# 19) (hint: 
         use your Chemistry Reference packet).
21.)  How are physical and chemical changes different?

22.) List all the indicators of a chemical rxn.

23.) What are the differences b/w a solid, liquid and a gas?

24.) What are substances?

25.) What are mixtures?

26.)  What is the difference b/w a homogeneous mixture and a heterogeneous mixture?
27.)  Classify the following as a mixture or a substance.

a. air

b. sodium hydroxide (NaOH)

c. nitrogen    

d. milk

28.) Classify each of the following as homogeneous or heterogeneous mixtures.

a. chocolate-chip ice cream

b. green ink

c. salad

d. kool-aid
Percent Error:
29.)   The solubility product constant for silver oxide at 25( C is actually 1.51 x 10-8.  An experimental value obtained in a lab was 1.36 x 10-8.  What is the percent error?
30.)  A student analyzing a sample for bromine (Br) makes four trials with the following results: 35.2, 36.9, 35.2, and 36.5. The actual value is 36.2. What is the percent error?
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